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Q1 If ,

then the value of  is equal
to (where , is)
(A)  (B) 
(C)  (D) None of these

Q2 Let  where  and
 then the value of  is

(A) a natural number
(B) a negative integer
(C) a prime number
(D) are irrational number

Q3 In the expansion of  the
coe�cient of  is
(A) 144 (B) 288
(C) 216 (D) 576

Q4 If the maximum value of the term independent
of  in the expansion of

, is , then  is

equal to
(A) 3003 (B) 6006
(C) 4004 (D) none of these

Q5 If and the middle term of  is
1120 , then value of  is:
(A) 3 (B) 2
(C) 1 (D) 4

Q6 For , let  and  denote,
respectively, the coe�cient of  in the

expansions of  and
. Then  is

equal to -
(A) 
(B) 
(C) 
(D) 

Q7 The coe�cient of  in the expression
 is 

(A)  (B) 
(C)  (D) 

Q8 The remainder when  is
divided by 9 is
(A) 1 (B) 4
(C) 6 (D) 8

Q9 If

then  is
(A) even
(B) odd and of the form 
(C) odd and of the form 
(D) odd and of the form 

Q10 The term independent of  in the expansion of

 is

(A) 
(B) 
(C) 
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(D) None of these

Q11 If 

then the value of  is :
(A) 2
(B) 
(C) 
(D)  

Q12 The number

is not divisible by :
(A) 3 (B) 7
(C) 11 (D) 19

Q13 The term independent of  in the binomial

expansion of , is
(A) sixth (B) seventh
(C) fifth (D) None of these

Q14 The ratio of the coe�cient  in 

and the term independent of  in , is
(A) 
(B)  
(C) 
(D) None of these

Q15 The value of
 is

(A) 0 (B) -1
(C) -2 (D) -3

Q16

(A) 

(B) 

(C) 
(D) None of these

Q17

If ,

then value of
 is

(A)  (B) 2
(C)  (D) None of these

Q18 Which of the following is NOT CORRECT?
(A) The greatest integer less than or equal to

 is 197
(B) The integer next above  contains

 as factor
(C) The greatest integer less than or equal to the

number  is a multiple of 2 
(D) If R  and

 where  is integer and
 then .

Q19 Let  and  be the coe�cients of seventh and
thirteenth terms respectively in the expansion of

. Then  is :

(A) 
(B) 
(C) 
(D) 

Q20 The number of terms which are free from radical

signs in the expansion of  is
(A)  (B) 
(C)  (D) None

Q21 If 

then  
 is

(A) 

(B) 
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(C) 

(D)  

Q22 If the number of terms in the expansion of

, is  , then the sum of

the coe�cients of all the terms in this expansion,
is :-
(A)  (B) 
(C)  (D) 

Q23 The expression

 is

a polynomial of degree
(A) 5 (B) 6
(C) 7 (D) 8

Q24 If ,

then the value of  is
equal to
(A)  (B) 
(C)  (D) 

Q25 The middle term in the expansion of

, is

(A)  

(B)  

(C)  
(D)  

       |        |   
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Answer	Key
Q1   (A)

Q2   (B)

Q3   (D)

Q4   (B)

Q5   (B)

Q6   (D)

Q7   (B)

Q8   (D)

Q9   (A)

Q10   (B)

Q11   (A)

Q12   (C)

Q13   (A)

Q14   (B)

Q15   (A)

Q16   (C)

Q17   (A)

Q18   (C)

Q19   (C)

Q20   (B)

Q21   (C)

Q22   (A)

Q23   (C)

Q24   (C)

Q25   (C)

       |        |   Android App iOS App PW Website

https://play.google.com/store/apps/details?id=xyz.penpencil.physicswala
https://play.google.com/store/apps/details?id=xyz.penpencil.physicswala
https://play.google.com/store/apps/details?id=xyz.penpencil.physicswala
https://play.google.com/store/apps/details?id=xyz.penpencil.physicswala
https://apps.apple.com/in/app/physics-wallah/id1641443555
https://apps.apple.com/in/app/physics-wallah/id1641443555
https://apps.apple.com/in/app/physics-wallah/id1641443555
https://apps.apple.com/in/app/physics-wallah/id1641443555
https://www.pw.live/
https://www.pw.live/
https://www.pw.live/
https://www.pw.live/

